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問　1
1）

2）

3）

4）

5）

問　2
1）

𝟑𝒙𝟐 − 𝟐𝒙 = 𝟖

𝟑𝒙𝟐 − 𝟐𝒙 − 𝟖 = 𝟎
𝒙 − 𝟐 𝟑𝒙 + 𝟒 = 𝟎

∴ 𝒙 = 𝟐 ,−
𝟒

𝟑

𝒙 + 𝟑 > 𝟐𝒙 − 𝟏
𝒙 − 𝟐𝒙 > −𝟏 − 𝟑
−𝒙 > −𝟒
𝒙 < 𝟒

𝟑𝒙 + 𝟏 < 𝟐𝒙 + 𝟕 ≦ 𝟑𝒙 + 𝟑

𝟑𝒙 + 𝟏 < 𝟐𝒙 + 𝟕・・・①

𝟐𝒙 + 𝟕 ≦ 𝟑𝒙 + 𝟑・・・②

①より
𝟑𝒙 − 𝟐𝒙 < 𝟕 − 𝟏
𝒙 < 𝟔

②より

𝟐𝒙 − 𝟑𝒙 ≦ 𝟑 − 𝟕
−𝒙 ≦ −𝟒
𝒙 ≧ 𝟒

∴ 𝟒 ≦ 𝒙 < 𝟔

ቐ
𝟓𝒙 + 𝟐𝒚 = 𝟖

𝟑𝒙 − 𝟒𝒚 = 𝟏𝟎

ቐ
𝟓𝒙 + 𝟐𝒚 = 𝟖 ・・・①

𝟑𝒙 − 𝟒𝒚 = 𝟏𝟎 ・・・②

①×2+②

𝟏𝟎𝒙 + 𝟒𝒚 = 𝟏𝟔

𝟑𝒙 − 𝟒𝒚 = 𝟏𝟎
𝟏𝟑𝒙 = 𝟐𝟔
𝒙 = 𝟐

①に代入
𝟏𝟎 + 𝟐𝒚 = 𝟖

𝟐𝒚 = 𝟖 − 𝟏𝟎
𝟐𝒚 = −𝟐

∴ 𝒙 , 𝒚 = (𝟐 ,−𝟏)

𝒙𝟐 + 𝟑𝒙 − 𝟒 < 𝟎
(𝒙 + 𝟒)(𝒙 − 𝟏) < 𝟎
−𝟒 < 𝒙 < 𝟏

𝒚 = 𝒂𝒙𝟐 + 𝒃𝒙 + 𝒄とおく

−𝟓 = 𝒄 ・・・①

−𝟏 = 𝒂 + 𝒃 + 𝒄 ・・・②

𝟏𝟏 = 𝟒𝒂 + 𝟐𝒃 + 𝒄 ・・・③

①を② , ③に代入
−𝟏 = 𝒂 + 𝒃 − 𝟓

𝒂 + 𝒃 = 𝟒 ・・・②’
𝟏𝟏 = 𝟒𝒂 + 𝟐𝒃 − 𝟓

𝟒𝒂 + 𝟐𝒃 = 𝟏𝟔 ・・・③’

②’ ×2－③’

𝟐𝒂 + 𝟐𝒃 = 𝟖
𝟒𝒂 + 𝟐𝒃 = 𝟏𝟔

−𝟐𝒂 = −𝟖
𝒂 = 𝟒

②’に代入

𝒃 = 𝟎

∴ 𝒚 = 𝟒𝒙𝟐 − 𝟓

－
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問　2
2）

3）

問　3
1）

2）

3）

問　4
1)

2)

3)

・・・③’ 𝒚

最小値 𝒙 = 𝟎のとき 𝒚 = −𝟓

最大値 𝒙 = 𝟐 ,または − 𝟐のとき 𝒚 = 𝟏𝟏

𝒚 − 𝟐 = 𝟒 𝒙 − 𝟏 𝟐 − 𝟓

𝒚 = 𝟒(𝒙 − 𝟏)𝟐−𝟑

𝒔 =
𝟏

𝟐
× 𝟑 × 𝟖 × 𝒔𝒊𝒏𝟔𝟎°

=
𝟏

𝟐
× 𝟑 × 𝟖 ×

𝟑

𝟐

= 𝟔 𝟑 A． 𝟔 𝟑 𝒄𝒎𝟐

６０°

８

３

A

B C

𝑨𝑪𝟐 = 𝑨𝑩𝟐 + 𝑩𝑪𝟐 − 𝟐 ∙ 𝑨𝑩 ∙ 𝑩𝑪 ∙ 𝒄𝒐𝒔∠𝑩

= 𝟗 + 𝟔𝟒 − 𝟐 ∙ 𝟑 ∙ 𝟖 ∙
𝟏

𝟐
= 𝟒𝟗

𝑨𝑪 = 𝟕
A． 𝟕𝒄𝒎

𝟕

𝒔𝒊𝒏𝟔𝟎°
= 𝟐𝑹

𝑹 =
𝟕

𝟑
=
𝟕

𝟑
𝟑 A．

𝟕

𝟑
𝟑 𝒄𝒎

𝐀⋂B= 𝟐 , 𝟑

𝐀⋃B= 𝟏 , 𝟐 , 𝟑 , 𝟒 , 𝟓 , 𝟔

𝐀⋂B

𝐀 = 𝟓 , 𝟔 , 𝟕 , 𝟖 , 𝟗

𝐀⋂B= 𝟓 , 𝟔
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